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+ 5G Unicast in each direction + 1G Multicast with 8X replication in one direction

+ Total Output bandwidth 5+5=10 + 2G unicast in the other direction
+ Total Output bandwidth 8+2=10G

5G 1G 10G
+ 5G Unicast in one direction and 6G Unicast in + 1G Multicast with 10X replication in one direction
the other direction * 1G Unicast in the other direction
+ Total output bandwidth (5+6=11) exceeds 10G; + Total bandwidth (10+1=11) exceeds 10G; only
only 10G will go through 10G will go through
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- show interface <interface-name> <slot/card/port controller

. QIE{H|0|A& 29F Al

. show platform hardware qfp active datapath At & 2 °f

- show platform hardware port <slot/card/port> plim HI{ A&

- show platform hardware port <slot/card/port> plim buffer settings Al &2

0| ool A= TenGigEthernet 0/2/00{ M EEHEE 415t TenGigEthernet0/1/004| A & & LIC}.

Z242 ASR1002 2 RE{0l| M ZZ{EILICH15.1(3)S2 I0S®-XE A T E 2o

2.5G 2.7G
——— ———
Tengig 0/2/0 Tengig 0/1/0
Router
& EA
ESP X SIP 7t= 9| 8 &2 Al#45}124H show platform &2 Al#gHLIC}H 0| oo HE BHRE{ 2]
Zoe X0 £3 82)0| 5G0|H ESP &0l olalf A ELICH.

Chassi s type: ASR1002

0 ASR1002- Sl P10 ok 3y45w
0/0 AXGE-BU LT-IN ok 3y45w

O
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0/1 SPA- 1X10GE- L- V2 ok 3y45w

0/ 2 SPA- 1X10GE- L- V2 ok 3y45w
RO ASR1002- RP1 ok, active 3y45w
FO ASR1000- ESP5 ok, active 3y45w
PO ASR1002- PWR- AC ok 3y45w
P1 ASR1002- PWR- AC ok 3y45w
Sl ot CPLD Versi on Fi rmmnare Version
0 07120202 12.2(33r) XNC
RO 08011017 12.2(33r) XNC
FO 07091401 12.2(33r) XNC
OIE{H|O|A EA|

MEAIZME S8t 218l A(ingress) &&= @l A(ingress) SIPL| HIHZIS LIEHLHH 29
S AT EE= o|2BlA(egress) B2 ET S 7I2IZLICHEE Mo{ dEHE 2t RE{7} =AlEt Al B
| E1|°'° ME[E K| ofL|TH EE Al Al BX| =B E%%*ﬂ% LtEHH LT

Rout er#sh int Te0/2/0 controller

TenG gabit Et hernet0/2/0 is up, line protocol is up

Hardware is SPA-1X10GE-L-V2, address is d48c. b52e.e620 (bia d48c. b52e. e620)
Description: Connection to DET LAN

Internet address is 10.10.101.10/29

MIU 1500 bytes, BW 10000000 Kbit/sec, DLY 10 usec,
reliability 255/255, txload 8/255, rxload 67/255
Encapsul ati on ARPA, | oopback not set

Keepal i ve not supported

Ful | Dupl ex, 10000Mops, link type is force-up, nedia type is 10CGBase- SR/ SW
output flowcontrol is on, input flowcontrol is on

ARP type: ARPA, ARP Ti neout 04:00:00

Last input 00:06: 33, output 00:00:35, output hang never

Last clearing of "show interface" counters 1d18h

I nput queue: 0/375/0/0 (size/max/drops/flushes); Total output drops: O
Queueing strategy: fifo

Qut put queue: 0/40 (sizel/ max)

5 mnute input rate 2649158000 bits/sec, 260834 packets/sec
5 mnute output rate 335402000 bits/sec, 144423 packets/sec
15480002600 packets input, 18042544487535 bytes, 0 no buffer
Recei ved 172 broadcasts (O IP rulticasts)

O runts, O giants, O throttles

O input errors, 0 CRC, O frame, 0O overrun, O ignored

0 wat chdog, 257 nulticast, O pause input

10759162793 packets out put, 4630923784425 bytes, 0 underruns
output errors, 0 collisions, O interface resets

unknown protocol drops

babbles, 0 late collision, O deferred

lost carrier, 0 no carrier, O pause output

output buffer failures, 0 output buffers swapped out

TenG gabi t Et hernet 0/ 2/ 0

0 input vlian errors

444980 i ngress over sub drops

0 Nunber of sub-interface configured

vdevburr01lc10#
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Rout er O#show pl at f orm hardware qf p active datapath utilization

CPP 0O 5 secs 1 mn 5mn 60 min
Input: Priority (pps) 1073 921 1048 1203
(bps) 1905624 1772832 1961560 2050136
Non-Priority (pps) 491628 407831 415573 373270
(bps) 3536432120 2962683416 3051102376 2652122448
Total (pps) 492701 408752 416621 374473
(bps) 3538337744 2964456248 3053063936 2654172584
Qutput: Priority (pps) 179 170 124 181
(bps) 535864 509792 370408 540416
Non-Priority (pps) 493706 409239 417159 374982
(bps) 3545612320 2967293504 3056172104 2657838152
Total (pps) 493885 409409 417283 375163
(bps) 3546148184 2967803296 3056542512 2658378568
Processing: Load (pct) 17 46 38 36
QIE{H O|A 29f EA|
TXBS EEE EtRE 2 & £3 ECfE 2 MSELICEo| toM & &3 e
3.1G(2680945000 + 372321000 = 305326600) & L|C}.
Rout er #sh int summary
*: interface is up
I HQ pkts in input hold queue | @ pkts dropped frominput queue
CHQ pkts in output hold queue OQD: pkts dropped from out put queue
RXBS: rx rate (bits/sec) RXPS: rx rate (pkts/sec)
TXBS: tx rate (bits/sec) TXPS: tx rate (pkts/sec)
TRTL: throttle count
Interface I HQ 1 QD OoHQ (06D) RXBS RXPS TXBS
TXPS TRTL
G gabi t Et hernet 0/ 0/ 0 0 0 0 0 0 0 0
0 0
G gabi t Et hernet 0/ 0/ 1 0 0 0 0 0 0 0
0 0
G gabi t Et hernet 0/ 0/ 2 0 0 0 0 0 0 0
0 0
G gabi t Et hernet 0/ 0/ 3 0 0 0 0 0 0 0
0 0
* Te0/1/0 0 0 0 0 383941000 152887 2680945000
265668 0
* Te0/2/0 0 0 0 0 2541026000 254046 372321000
147526 0
G gabi t Et hernet 0 0 0 0 0 0 0 0
0 0
* LoopbackO 0 0 0 0 0 0 0
0 0

A& HH 4 £ Al

MEHE EQIEFLIC.Curr 2L0] Max 2 %01l /284 PLIM B

E3& St=90{ L E <slot/card/port>

235104 PLIMS| HHIH & 27|
EM iH%X# ‘24%% L+EFEH LT,

Rout er #Show pl at f or m hardware port 0/2/0 plim buffer settings



Interface 0/2/0

RX Low

Buf fer Size 28901376 Bytes

Drop Threshol d 28900416 Bytes

Fill Status Curr/Max O Bytes / 360448 Bytes
TX Low

InterimFIFO Size 192 Cache |ine

Drop Threshol d 109248 Bytes

Fill Status Curr/Max 1024 Bytes / 2048 Bytes
RX Hi gh

Buf fer Size 4128768 Bytes

Drop Threshol d 4127424 Bytes

Fill Status curr/Max 1818624 Bytes / 1818624 Bytes
TX Hi gh

InterimFIFO Size 192 Cache |ine

Drop Threshol d 109248 Bytes

Fill Status Curr/Max O Bytes / O Bytes

Rout er #Show pl at f orm hardware port 0/2/0 plim buffer settings detail
Interface 0/2/0
RX Low
Buf fer Size 28901376 Bytes
Fill Status Curr/Max O Bytes / 360448 Bytes
Al nost Enpty THO/ THL 14181696 Bytes / 14191296 Bytes
Al nost Full THO/ TH1 28363392 Bytes / 28372992 Bytes
Ski pMe Cache Start / End Addr 0x0000A800 / 0x00013ACO
Buf f er Start / End Addr OxO1FAAO0O0O / 0x03B39FCO
TX Low
InterimFIFO Size 192 Cache |ine
Drop Threshol d 109248 Bytes
Fill Status Curr/Max 1024 Bytes / 2048 Bytes
Event XON XOFF 49536 Bytes / 99072 Bytes
Buffer Start / End Addr 0x00000300 / 0x000003BF
RX Hi gh
Buf fer Size 4128768 Bytes
Fill Status Curr/Max 1818624 Bytes / 1818624 Bytes
Al nost Enpty THO/ THL 1795200 Bytes / 1804800 Bytes
Al nost Full  THO/ THL 3590400 Bytes / 3600000 Bytes
Ski pMe Cache Start / End Addr 0x00013B0O0O / 0x00014FCO
Buf f er Start / End Addr 0x03B3A000 / 0x03F29FCO
TX Hi gh
InterimFIFO Size 192 Cache line
Drop Threshol d 109248 Bytes
Fill Status Curr/Max O Bytes / O Bytes
Event XON XOFF 49536 Bytes / 99072 Bytes
Buffer Start / End Addr 0x000003CO / 0x0000047F
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